

Bayesian Estimation using Lindley's Approximation and Prediction of Generalized Exponential Distribution Based on Lower Record Values

Sana Sana* and Mohammad Faizan

Department of Statistics and Operations Research, Aligarh Muslim University, Aligarh, 202002, India

Received: 10 Aug. 2019, Revised: 23 Jan. 2020, Accepted: 12 Feb. 2020

Published online: 1 Mar. 2021

Abstract: The two parameter generalized exponential distribution (which is denoted by $GE(\alpha, \lambda)$) was introduced by Gupta and Kundu (1999). In this article, maximum likelihood estimators (MLE's) for the two unknown parameters of the generalized exponential (GE) distribution are obtained based on lower record values. Also, we obtained the Bayes Estimators of the unknown parameters of the generalized exponential distribution using Lindley's approximation (L-approximation) under symmetric and asymmetric loss functions. Further, we have derived the Bayesian prediction for the future record values. Numerical computations are presented to illustrate the results of estimation and prediction using R software.

Keywords: Bayesian inference, independent prior, maximum likelihood estimation, Bayes estimation, Bayes prediction, record values, generalized exponential distribution, squared error loss function, linear exponential (LINEX) loss function, general entropy loss function, Bayes prediction.

1 Introduction

Record values and their basic properties were first introduced by Chandler [1]. The study of record values and associated statistics are of great significance in multiple real life situations such as meteorology, seismology, athletic events, economics and life testing. Numerous papers on record values and their distributional properties have appeared in the statistical literature, among them [2,3,4,5,6]. Moreover, Raqab and Ahsanullah [7] studied the properties of order and record statistics, and their inferences, respectively.

Let X_1, X_2, \dots be a sequence of independent and identically distributed (*iid*) random variables (*rv*'s) with a cumulative distribution function (*cdf*) $F(x)$ and a probability density function (*pdf*) $f(x)$. Let $Y_n = \min\{X_1, X_2, \dots, X_n\}$, for $n \geq 1$; then, the observation X_j is a lower record value of $\{X_n, n \geq 1\}$, if it is smaller than all the preceding observations; in other words, if $Y_j < Y_{j-1}, j > 1$. By definition, X_1 is a lower, as well as an upper record value, called the base record value.

The two parameter generalized exponential has a distribution function of the form

$$F(x) = (1 - e^{-\lambda x})^\alpha, \quad x \geq 0, \quad \alpha, \lambda > 0, \quad (1)$$

and the density function corresponding to (1) is

$$f(x) = \alpha \lambda e^{-\lambda x} (1 - e^{-\lambda x})^{\alpha-1}, \quad x \geq 0, \quad \alpha, \lambda > 0. \quad (2)$$

Here, α is the shape parameter, and λ is the scale parameter. When $\alpha = 1$, the GE distribution coincides with the exponential distribution. It was observed that the GE distribution can be used in situations where a skewed distribution for a non-negative random variable is needed. The GE is a unimodal density function. and for a fixed scale parameter, as the shape parameter increases, it becomes more and more symmetric. In addition, the GE distribution has a good physical interpretation. It has been studied extensively by Gupta and Kundu [8,9,10,11,12].

* Corresponding author e-mail: sanarais233@gmail.com

For Bayesian inference, a frequent choice of loss function is a squared error loss function (SELF), because it is symmetric, and easy to implement and tractable. An asymmetric loss function is also found useful in many situations. A useful asymmetric loss function, known as the linear-exponential (LINEX) loss function, was introduced by Varian [13] and has been widely used by several authors, [14, 15, 16, 17, 18, 19]. Moreover, we use a more flexible loss function, General entropy loss function (GELF), because different choices of parameter values involved in the loss function can produce both symmetric and asymmetric loss functions.

However, Bayesian estimation under the loss function is not frequently discussed, perhaps, because the estimators under symmetric and asymmetric loss function involve integral expressions, which are not analytically solvable. Therefore, one has to use the numerical techniques or certain approximation methods for the solution. Lindley's approximation and Tierney and Kadane approximation technique are the methods suitable for solving such problems. There has been a significant amount of research done in statistical inference of several distributions based on lower record values, see, [20, 21, 22, 23, 24, 25]. For GE distribution, Sarhan and Tadj [26] presented the Bayesian inferences of the unknown parameters of the GE distribution based on upper record values.

Also, prediction of future records becomes a problem of great interest. For example, while studying the record rainfalls or snowfalls, having observed the record values until the present time, we will be naturally interested in predicting the amount of rainfall or snowfall that is to be expected when the present record is broken for first time in the future, See [2]. We may be interested in predicting (either point or interval) the value of the next record (X_{m+1}), or more generally, the value of the s -th record (X_s), for some $s > m$. Prediction of future records has been studied by a number of statisticians, See [5, 27, 28, 29, 30, 31]. The prediction of future record value based on given records is a useful research component involved in many applications.

In this paper, the maximum likelihood estimators of the parameters are obtained. Here we observed that the MLE's cannot be obtained in a closed form, we, therefore, propose to use the Newton-Raphson numerical approximation method to compute the MLE's via the Taylor series, and the proposed method works quite well. The Bayes estimators of the parameters of the generalized exponential distribution based on lower record values are obtained under the linear exponential loss function, general entropy loss function and squared error loss function using Lindley's approximation technique. Bayesian prediction of the s -th lower record, either point or interval, is also presented. Moreover, Numerical computations using R software are given to illustrate the results.

2 Estimation of The Parameters

In this section, we are going to derive the MLE's of the parameters from a record data. We will also obtain the Bayes estimators under symmetric and asymmetric loss functions.

2.1 Maximum Likelihood Estimator

Suppose we observe m lower record values $X_{L(1)} = x_1, X_{L(2)} = x_2, \dots, X_{L(m)} = x_m$, arising from a sequence of iid $GE(\alpha, \lambda)$ with pdf $f(x)$ (2), Arnold [2] gives the likelihood function as

$$l(\alpha, \lambda | \underline{x}) = f(x_{L(m)}; \alpha, \lambda) \prod_{i=1}^{m-1} \frac{f(x_{L(i)}; \alpha, \lambda)}{F(x_{L(i)}; \alpha, \lambda)}. \quad (3)$$

Substituting (1) and (2) in (3), we get

$$l(\alpha, \lambda | \underline{x}) = \alpha^m \lambda^m \exp(\alpha \log(1 - e^{-\lambda x_m})) t(\underline{x}), \quad (4)$$

where

$$t(\underline{x}) = \prod_{i=1}^m \frac{e^{-\lambda x_i}}{(1 - e^{-\lambda x_i})} \quad \text{and} \quad \underline{x} = (x_1, x_2, \dots, x_m).$$

The log-likelihood function is

$$L(\alpha, \lambda | \underline{x}) = m(\log \alpha + \log \lambda) + \alpha \log(1 - \exp(-\lambda x_m)) - \lambda \sum_{i=1}^m x_i - \sum_{i=1}^m \log(1 - \exp(-\lambda x_i)). \quad (5)$$

By differentiating the equation (5) with respect to α and λ and equating to zero, we get

$$\frac{\partial L(\alpha, \lambda | \underline{x})}{\partial \alpha} = \frac{m}{\alpha} + \log(1 - \exp(-\lambda x_m)) = 0, \tag{6}$$

$$\begin{aligned} \frac{\partial L(\alpha, \lambda | \underline{x})}{\partial \lambda} &= \frac{m}{\lambda} - \sum_{i=1}^m x_i + \alpha \frac{x_m \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))} \\ &\quad - \sum_{i=1}^m \frac{x_i \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))} = 0. \end{aligned} \tag{7}$$

From equation (6), we get

$$\hat{\alpha} = -\frac{m}{\log(1 - \exp(-\lambda x_m))}. \tag{8}$$

First, we shall find $\hat{\lambda}$ so that $\hat{\alpha}$ can be determined. Note that the estimators of α and λ are not in closed form. So that we propose to find $\hat{\lambda}$ by using Newton-Raphson method as given below.

Let $f(\lambda)$ be the same as equation (7), and taking the first differential of $f(\lambda)$, we have

$$f'(\lambda) = -\frac{m}{\lambda^2} - \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2} + \sum_{i=1}^m \frac{x_i^2 \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))^2}. \tag{9}$$

By substituting equation (8) into equation (7), we call $f(\lambda)$ as

$$\begin{aligned} f(\lambda) &= \frac{m}{\lambda} - \frac{m x_m \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m)) \log(1 - \exp(-\lambda x_m))} \\ &\quad - \sum_{i=1}^m x_i - \sum_{i=1}^m \frac{x_i \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))}. \end{aligned} \tag{10}$$

Substituting equation (8) into equation (9), we obtain

$$\begin{aligned} f'(\lambda) &= -\left[\frac{m}{\lambda^2} - \frac{m x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2 \log(1 - \exp(-\lambda x_m))} \right. \\ &\quad \left. - \sum_{i=1}^m \frac{x_i^2 \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))^2} \right]. \end{aligned} \tag{11}$$

Therefore, λ is obtained from the equation below by carefully choosing an initial value λ as λ_i and iterating the process till it converges:

$$\lambda_{i+1} = \lambda_i - \frac{\frac{m}{\lambda} - \sum_{i=1}^m x_i - \frac{m x_m \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m)) \log(1 - \exp(-\lambda x_m))} - \sum_{i=1}^m \frac{x_i \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))}}{\left[\frac{m}{\lambda^2} - \frac{m x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2 \log(1 - \exp(-\lambda x_m))} - \sum_{i=1}^m \frac{x_i^2 \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))^2} \right]}. \tag{12}$$

We find the MLE's of the parameters of $GE(\alpha, \lambda)$ distribution by using R software.

2.2 Bayes Estimator

In this subsection, we investigate the Bayes estimators for parameters α and λ . Under the assumption that both parameters α and λ are unknown, the priors for parameters α and λ may be taken as [32]

$$g_1(\alpha) \propto \frac{1}{\alpha}, \quad 0 \leq \alpha < \infty$$

and

$$g_2(\lambda) \propto \frac{b^c \lambda^{c-1} \exp(-b\lambda)}{\Gamma_c}, \quad \lambda \geq 0, \quad b, c > 0,$$

respectively, to give the joint prior distribution for α and λ as

$$g(\alpha, \lambda) = \frac{b^c \lambda^{c-1} \exp(-b\lambda)}{\alpha \Gamma c}, \quad \alpha, \lambda \geq 0, \quad b, c > 0, \quad (13)$$

where b and c are positive real numbers.

By Bayes Theorem, the posterior density function of (α, λ) is given by

$$\Pi(\alpha, \lambda | \underline{x}) = C I(\alpha, \lambda | \underline{x}) g(\alpha, \lambda), \quad (14)$$

where C is a normalizing constant.

Using (4), (13) and applying Bayes Theorem, the joint posterior density function of α and λ is given by

$$\Pi(\alpha, \lambda | \underline{x}) = \frac{1}{\Gamma m \phi(b, c - 1, x_m)} \alpha^{m-1} \lambda^{m+c-1} t(\underline{x}) \exp(\alpha \log(1 - e^{-\lambda x_m}) - b\lambda), \quad (15)$$

where

$$\phi(b, c - 1, x_m) = \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-b\lambda)}{(\log(1 - \exp(-\lambda x_m))^{-1})^m} d\lambda. \quad (16)$$

Now, the Bayes estimators of the parameters with different loss functions are given below:

Linear Exponential (LINEX) Loss Function

This loss function according to Soliman [33] rises approximately exponentially on one side of zero and approximately linearly on the other side. There is an overestimation if $c_1 > 0$ and an underestimation if $c_1 < 0$, but when $c_1 \cong 0$, LINEX Loss Function is approximately the squared error loss function. LINEX loss function with parameter c_1 is given by

$$L(\hat{\theta} - \theta) \propto \exp(c_1(\hat{\theta} - \theta)) - c_1(\hat{\theta} - \theta) - 1, \quad (17)$$

where $\hat{\theta}$ is the estimate of the parameter θ .

Under the above loss function, the Bayes estimator $\hat{\theta}_{BL}$ of θ is given by

$$\hat{\theta}_{BL} = -\frac{1}{c_1} \ln E_\theta(e^{-c_1 \theta} | \underline{x}), \quad (18)$$

where E_θ stands for posterior expectation. The sign of shape parameter (c_1) reflects the direction of asymmetry, and its magnitude reflects the degree of asymmetry. The Bayes estimators for the parameters α and λ of the GE distribution under LINEX loss function may be defined as

$$\hat{\alpha}_{BL} = -\frac{1}{c_1} \ln E_\alpha(e^{-c_1 \alpha} | \underline{x}), \quad (19)$$

where

$$E_\alpha(e^{-c_1 \alpha} | \underline{x}) = \int_{(\alpha, \lambda)} e^{-c_1 \alpha} \Pi(\alpha, \lambda | \underline{x}) d(\alpha, \lambda) \quad (20)$$

and

$$\hat{\lambda}_{BL} = -\frac{1}{c_1} \ln E_\lambda(e^{-c_1 \lambda} | \underline{x}), \quad (21)$$

where

$$E_\lambda(e^{-c_1 \lambda} | \underline{x}) = \int_{(\alpha, \lambda)} e^{-c_1 \lambda} \Pi(\alpha, \lambda | \underline{x}) d(\alpha, \lambda), \quad (22)$$

respectively, provided that $E_\alpha(e^{-c_1 \alpha} | \underline{x})$ and $E_\lambda(e^{-c_1 \lambda} | \underline{x})$ exist and are finite.

From equation (15), it can be shown that

$$E_\alpha(e^{-c_1 \alpha} | \underline{x}) = \frac{1}{\phi(b, c - 1, x_m)} \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-b\lambda)}{[\log(1 - e^{-\lambda x_m})^{-1} + c_1]^m} d\lambda$$

and

$$E_\lambda(e^{-c_1 \lambda} | \underline{x}) = \frac{1}{\phi(b, c - 1, x_m)} \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-\lambda(b + c_1))}{[\log(1 - e^{-\lambda x_m})^{-1}]^m} d\lambda.$$

Using (19) and (21), we obtain the Bayes estimator of α and λ as

$$\hat{\alpha}_{BL} = -\frac{1}{c_1} \ln \left[\frac{1}{\phi(b, c-1, x_m)} \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-b\lambda)}{[\log(1 - e^{-\lambda x_m})^{-1} + c_1]^m} d\lambda \right]$$

and

$$\hat{\lambda}_{BL} = -\frac{1}{c_1} \ln \left[\frac{1}{\phi(b, c-1, x_m)} \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-\lambda(b+c_1))}{[\log(1 - e^{-\lambda x_m})^{-1}]^m} d\lambda \right].$$

General Entropy Loss Function

This is another useful asymmetric loss function that is used to determine whether there is an overestimation or an underestimation. It is a generalization of the entropy loss function. The general entropy loss function with parameter k is given by

$$L(\hat{\theta} - \theta) \propto \left(\frac{\hat{\theta}}{\theta} \right) - k \ln \left(\frac{\hat{\theta}}{\theta} \right) - 1, \tag{23}$$

where $\hat{\theta}$ is the estimate of the parameter θ .

Under the above loss function, the Bayes estimator $\hat{\theta}_{BG}$ of θ is given by

$$\hat{\theta}_{BG} = [E_\theta(\theta^{-k} | \underline{x})]^{-\frac{1}{k}}, \tag{24}$$

where E_θ stands for posterior expectation. The proper choice for k is a challenging task for an analyst, because it reflects the asymmetry of the loss function. The Bayes estimators for the parameters α and λ of the GE distribution under general entropy loss function may be defined as

$$\hat{\alpha}_{BG} = [E_\alpha(\alpha^{-k} | \underline{x})]^{-\frac{1}{k}}, \tag{25}$$

where

$$E_\alpha(\alpha^{-k} | \underline{x}) = \int_{(\alpha, \lambda)} \alpha^{-k} \Pi(\alpha, \lambda | \underline{x}) d(\alpha, \lambda) \tag{26}$$

and

$$\hat{\lambda}_{BG} = [E_\lambda(\lambda^{-k} | \underline{x})]^{-\frac{1}{k}}, \tag{27}$$

where

$$E_\lambda(\lambda^{-k} | \underline{x}) = \int_{(\alpha, \lambda)} \lambda^{-k} \Pi(\alpha, \lambda | \underline{x}) d(\alpha, \lambda), \tag{28}$$

respectively, provided that $E_\alpha(\alpha^{-k} | \underline{x})$ and $E_\lambda(\lambda^{-k} | \underline{x})$ exist and are finite.

From equation (15), it can be shown that

$$E_\alpha(\alpha^{-k} | \underline{x}) = \frac{\Gamma(m-k)}{\Gamma m \phi(b, c-1, x_m)} \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-b\lambda)}{[\log(1 - e^{-\lambda x_m})^{-1}]^{m-k}} d\lambda$$

and

$$E_\lambda(\lambda^{-k} | \underline{x}) = \frac{1}{\phi(b, c-1, x_m)} \int_0^\infty \frac{\lambda^{m+c-k-1} t(\underline{x}) \exp(-b\lambda)}{[\log(1 - e^{-\lambda x_m})^{-1}]^m} d\lambda.$$

Using (24) and (27), we obtain the Bayes estimator of α and λ as

$$\hat{\alpha}_{BG} = \left[\frac{\Gamma(m-k)}{\Gamma m \phi(b, c-1, x_m)} \int_0^\infty \frac{\lambda^{m+c-1} t(\underline{x}) \exp(-b\lambda)}{[\log(1 - e^{-\lambda x_m})^{-1}]^{m-k}} d\lambda \right]^{-\frac{1}{k}},$$

and

$$\hat{\lambda}_{BG} = \left[\frac{1}{\phi(b, c-1, x_m)} \int_0^\infty \frac{\lambda^{m+c-k-1} t(\underline{x}) \exp(-b\lambda)}{[\log(1 - e^{-\lambda x_m})^{-1}]^m} d\lambda \right]^{-\frac{1}{k}}.$$

Squared Error loss function

This loss function is symmetric in nature as it gives equal weightage to both over and under estimation. In real life, we encounter many situations where over estimation may be more serious than under estimation or vice versa. The squared error loss function is given by

$$L(\hat{\theta} - \theta) \propto (\hat{\theta} - \theta)^2, \quad (29)$$

where $\hat{\theta}$ is the estimate of the parameter θ .

Under the above loss function, the Bayes estimator $\hat{\theta}_{BS}$ of θ is given by

$$\hat{\theta}_{BS} = [E_{\theta}(\theta|\underline{x})], \quad (30)$$

where E_{θ} stands for posterior expectation. The Bayes estimators for the parameters α and λ of the GE distribution under squared error loss function is the posterior mean, we have

$$\hat{\alpha}_{BS} = [E_{\alpha}(\alpha|\underline{x})] = \int_{(\alpha,\lambda)} \alpha \Pi(\alpha, \lambda|\underline{x}) d(\alpha, \lambda), \quad (31)$$

and

$$\hat{\lambda}_{BS} = [E_{\lambda}(\lambda|\underline{x})] = \int_{(\alpha,\lambda)} \lambda \Pi(\alpha, \lambda|\underline{x}) d(\alpha, \lambda). \quad (32)$$

From equation (15), it can be shown that

$$[E(\alpha|\underline{x})] = \hat{\alpha}_{BS} = m \frac{\phi(b, c - 2, x_m)}{\phi(b, c - 1, x_m)}$$

and

$$[E(\lambda|\underline{x})] = \hat{\lambda}_{BS} = \frac{\phi(b, c, x_m)}{\phi(b, c - 1, x_m)}.$$

Because the Bayes estimators under symmetric and asymmetric loss functions involve the complicated integral function $\phi(b, c - 1, x_m)$, we consider using the Lindley's approximation to calculate the approximate Bayes estimators.

Lindley [34] proposed an approximation procedure to evaluate the ratio of two integrals such that

$$I(x) = E[u(\alpha, \lambda|\underline{x})] = \frac{\int_{(\alpha,\lambda)} u(\alpha, \lambda) e^{L(\alpha,\lambda)+G(\alpha,\lambda)} d(\alpha, \lambda)}{\int_{(\alpha,\lambda)} e^{L(\alpha,\lambda)+G(\alpha,\lambda)} d(\alpha, \lambda)}, \quad (33)$$

where

$u(\alpha, \lambda)$ = function of α and λ only;

$L(\alpha, \lambda)$ = log of likelihood;

$G(\alpha, \lambda)$ = log of joint prior of α , and λ

can be evaluated as

$$\begin{aligned} I(x) = & u(\hat{\alpha}, \hat{\lambda}) + \frac{1}{2} [(\hat{u}_{\lambda\lambda} + 2\hat{u}_{\lambda\hat{p}\lambda})\hat{\sigma}_{\lambda\lambda} + (\hat{u}_{\alpha\lambda} + 2\hat{u}_{\alpha\hat{p}\lambda})\hat{\sigma}_{\alpha\lambda} \\ & + (\hat{u}_{\lambda\alpha} + 2\hat{u}_{\lambda\hat{p}\alpha})\hat{\sigma}_{\lambda\alpha} + (\hat{u}_{\alpha\alpha} + 2\hat{u}_{\alpha\hat{p}\alpha})\hat{\sigma}_{\alpha\alpha}] \\ & + \frac{1}{2} [(\hat{u}_{\lambda}\hat{\sigma}_{\lambda\lambda} + \hat{u}_{\alpha}\hat{\sigma}_{\lambda\alpha})(\hat{L}_{\lambda\lambda\lambda}\hat{\sigma}_{\lambda\lambda} + \hat{L}_{\lambda\alpha\lambda}\hat{\sigma}_{\lambda\alpha} + \hat{L}_{\alpha\lambda\lambda}\hat{\sigma}_{\alpha\lambda} + \hat{L}_{\alpha\alpha\lambda}\hat{\sigma}_{\alpha\alpha}) \\ & + (\hat{u}_{\lambda}\hat{\sigma}_{\alpha\lambda} + \hat{u}_{\alpha}\hat{\sigma}_{\alpha\alpha})(\hat{L}_{\alpha\lambda\lambda}\hat{\sigma}_{\lambda\lambda} + \hat{L}_{\lambda\alpha\alpha}\hat{\sigma}_{\lambda\alpha} + \hat{L}_{\alpha\lambda\alpha}\hat{\sigma}_{\alpha\lambda} + \hat{L}_{\alpha\alpha\alpha}\hat{\sigma}_{\alpha\alpha})], \end{aligned} \quad (34)$$

where

$\hat{\alpha}$ = MLE of α ;

$\hat{\lambda}$ = MLE of λ ;

$$\hat{u}_{\lambda} = \frac{\partial u(\hat{\alpha}, \hat{\lambda})}{\partial \lambda}; \quad \hat{u}_{\alpha} = \frac{\partial u(\hat{\alpha}, \hat{\lambda})}{\partial \alpha}; \quad \hat{u}_{\lambda\alpha} = \frac{\partial^2 u(\hat{\alpha}, \hat{\lambda})}{\partial \lambda \partial \alpha}; \quad \hat{u}_{\alpha\lambda} = \frac{\partial^2 u(\hat{\alpha}, \hat{\lambda})}{\partial \alpha \partial \lambda};$$

$$\hat{u}_{\lambda\lambda} = \frac{\partial^2 u(\hat{\alpha}, \hat{\lambda})}{\partial \lambda^2}; \quad \hat{u}_{\alpha\alpha} = \frac{\partial^2 u(\hat{\alpha}, \hat{\lambda})}{\partial \alpha^2}; \quad \hat{L}_{\lambda\lambda\lambda} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \lambda \partial \lambda \partial \alpha}; \quad \hat{L}_{\lambda\lambda\lambda} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \lambda \partial \lambda \partial \lambda};$$

$$\hat{L}_{\lambda\alpha\lambda} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \lambda \partial \alpha \partial \lambda}; \quad \hat{L}_{\alpha\alpha\lambda} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \alpha \partial \alpha \partial \lambda}; \quad \hat{L}_{\alpha\lambda\lambda} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \alpha \partial \lambda \partial \lambda}; \quad \hat{L}_{\lambda\alpha\alpha} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \lambda \partial \alpha \partial \alpha};$$

$$\hat{L}_{\alpha\alpha\alpha} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \alpha \partial \alpha \partial \alpha}; \quad \hat{L}_{\lambda\alpha\alpha} = \frac{\partial^3 L(\hat{\alpha}, \hat{\lambda})}{\partial \alpha \partial \lambda \partial \alpha}; \quad \hat{p}_{\alpha} = \frac{\partial G(\hat{\alpha}, \hat{\lambda})}{\partial \alpha}; \quad \hat{p}_{\lambda} = \frac{\partial G(\hat{\alpha}, \hat{\lambda})}{\partial \lambda};$$

This approximation procedure has been used by several authors to obtain the approximate Bayes estimators for various distributions, such as [35, 36, 37, 38].

2.2.1 Bayes Estimator of α Under LINEX Loss Function

We see the Bayes estimator of α under the LINEX loss function in equation (19). Now, substituting the value of $\Pi(\alpha, \lambda | \underline{x})$ from (15) in equation (20), we have

$$E_{\alpha}(e^{-c_1\alpha} | \underline{x}) = \frac{\int_{(\alpha,\lambda)} u(\alpha, \lambda) e^{L(\alpha,\lambda)+G(\alpha,\lambda)} d(\alpha, \lambda)}{\int_{(\alpha,\lambda)} e^{L(\alpha,\lambda)+G(\alpha,\lambda)} d(\alpha, \lambda)}, \tag{35}$$

where

$$u(\alpha, \lambda) = e^{-c_1\alpha};$$

$$L(\alpha, \lambda) = m(\log\alpha + \log\lambda) + \alpha \log(1 - \exp(-\lambda x_m)) - \lambda \sum_{i=1}^m x_i - \sum_{i=1}^m \log(1 - \exp(-\lambda x_i));$$

$$G(\alpha, \lambda) = c \log b + (c-1) \log \lambda - b\lambda - \log \alpha - \log c.$$

It can easily be verified that

$$\hat{u}_{\alpha} = -c_1 e^{-c_1\alpha}, \quad \hat{u}_{\alpha\alpha} = c_1^2 e^{-c_1\alpha}, \quad \hat{u}_{\lambda} = \hat{u}_{\lambda\alpha} = \hat{u}_{\alpha\lambda} = 0,$$

$$\hat{p}_{\lambda} = \frac{(c-1)}{\lambda} - b, \quad \hat{p}_{\alpha} = -\frac{1}{\alpha} \quad \text{and}$$

$$\hat{L}_{\lambda} = \frac{m}{\lambda} - \sum_{i=1}^m x_i + \alpha \frac{x_m \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))} - \sum_{i=1}^m \frac{x_i \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))},$$

$$\hat{L}_{\alpha} = \frac{m}{\alpha} + \log(1 - \exp(-\lambda x_m)), \quad \hat{L}_{\lambda\lambda} = -\frac{m}{\lambda^2} - \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2} + \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1 - e(-\lambda x_i))^2},$$

$$\hat{L}_{\lambda\alpha} = \frac{x_m \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))}, \quad \hat{L}_{\alpha\alpha} = -\frac{m}{\alpha^2}, \quad \hat{L}_{\lambda\alpha\alpha} = \hat{L}_{\alpha\alpha\lambda} = \hat{L}_{\alpha\alpha\lambda} = 0, \quad \hat{L}_{\alpha\alpha\alpha} = \frac{2m}{\alpha^3}, \quad \hat{L}_{\lambda\lambda\alpha} = -\frac{x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2}$$

$$\text{and } \hat{L}_{\lambda\lambda\lambda} = \frac{2m}{\lambda^3} + \frac{\alpha x_m^3 (1 + e^{-\lambda x_m}) \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^3} - \sum_{i=1}^m \frac{x_i^3 (1 + e^{-\lambda x_i}) \exp(-\lambda x_i)}{(1 - \exp(-\lambda x_i))^3}.$$

$$\text{Again, because } \alpha \text{ and } \lambda \text{ are independent, } \hat{\sigma}_{\lambda\alpha} = 0; \quad \hat{\sigma}_{\lambda\lambda} = -\frac{1}{L_{\lambda\lambda}} \quad \text{and} \quad \hat{\sigma}_{\alpha\alpha} = -\frac{1}{L_{\alpha\alpha}}.$$

Evaluating u-terms, L-terms and p-terms mentioned above at point $(\hat{\alpha}, \hat{\lambda})$ and using (34), we get

$$E_{\alpha}(e^{-c_1\alpha} | \underline{x}) = e^{-c_1\alpha} + \frac{1}{2} \frac{\alpha^2}{m} c_1 e^{-c_1\alpha}$$

$$\left[\left(c_1 + \frac{2}{\alpha} \right) - \left(\frac{2}{\alpha} - \frac{\frac{x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2}}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1 - e(-\lambda x_i))^2}} \right) \right]$$

Thus, the Bayes estimator of α under the LINEX loss function is

$$\hat{\alpha}_{BL} = -\frac{1}{c_1} \ln \left[e^{-c_1\alpha} + \frac{1}{2} \frac{\alpha^2}{m} c_1 e^{-c_1\alpha} \left(\left(c_1 + \frac{2}{\alpha} \right) - \left(\frac{2}{\alpha} - \frac{\frac{x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2}}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1 - \exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1 - e(-\lambda x_i))^2}} \right) \right) \right].$$

2.2.2 Bayes Estimator of λ Under LINEX Loss Function

We see the Bayes estimator of λ under the LINEX loss function in equation (21). Now, substituting the value of $\Pi(\alpha, \lambda | \underline{x})$ from (15) in equation (22), we have

$$E_{\lambda}(e^{-c_1\lambda} | \underline{x}) = \frac{\int_{(\alpha,\lambda)} u(\alpha, \lambda) e^{L(\alpha,\lambda)+G(\alpha,\lambda)} d(\alpha, \lambda)}{\int_{(\alpha,\lambda)} e^{L(\alpha,\lambda)+G(\alpha,\lambda)} d(\alpha, \lambda)}, \tag{36}$$

where

$$u(\alpha, \lambda) = e^{-c_1\lambda};$$

$$L(\alpha, \lambda) \text{ and } G(\alpha, \lambda) \text{ are the same as those given in (35).}$$

It can easily be verified that

$$\hat{u}_{\lambda} = -c_1 e^{-c_1\lambda}, \quad \hat{u}_{\lambda\lambda} = c_1^2 e^{-c_1\lambda}, \quad \hat{u}_{\alpha} = \hat{u}_{\lambda\alpha} = \hat{u}_{\alpha\lambda} = 0.$$

Following the procedure as discussed in (2.2.1), we get after simplification,

$$E_{\lambda}(e^{-c_1\lambda}|\underline{x}) = e^{-c_1\lambda} + \frac{1}{2} \left[\left(\frac{c_1^2 e^{-c_1\lambda} - 2c_1 \left(\frac{c-1}{\lambda} - b \right) \exp(-c_1\lambda)}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} \right) \right. \\ \left. - \left(\frac{c_1 e^{-c_1\lambda} \left(\frac{2m}{\lambda^3} + \frac{\alpha x_m^3 (1+e^{-\lambda x_m}) \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^3} - \sum_{i=1}^m \frac{x_i^3 (1+e^{-\lambda x_i}) \exp(-\lambda x_i)}{(1-\exp(-\lambda x_i))^3} \right)}{\left(\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2} \right)^2} \right) \right].$$

Thus, the Bayes estimator of λ under the LINEX loss function is

$$\hat{\lambda}_{BL} = -\frac{1}{c_1} \ln \left[e^{-c_1\lambda} + \frac{1}{2} \left[\left(\frac{c_1^2 e^{-c_1\lambda} - 2c_1 \left(\frac{c-1}{\lambda} - b \right) \exp(-c_1\lambda)}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} \right) \right. \right. \\ \left. \left. - \left(\frac{c_1 e^{-c_1\lambda} \left(\frac{2m}{\lambda^3} + \frac{\alpha x_m^3 (1+e^{-\lambda x_m}) \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^3} - \sum_{i=1}^m \frac{x_i^3 (1+e^{-\lambda x_i}) \exp(-\lambda x_i)}{(1-\exp(-\lambda x_i))^3} \right)}{\left(\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2} \right)^2} \right) \right] \right].$$

2.2.3 Bayes Estimator of α Under General Entropy Loss Function

Applying the same Lindley approach here as in (34) with

$$u(\hat{\alpha}, \hat{\lambda}) = \alpha^{-k};$$

$$\hat{u}_{\alpha} = -k\alpha^{-k-1}, \hat{u}_{\alpha\alpha} = k(k+1)\alpha^{-k-2} \text{ and } \hat{u}_{\lambda} = \hat{u}_{\lambda\alpha} = \hat{u}_{\lambda\lambda} = 0.$$

$L(\alpha, \lambda)$ and $G(\alpha, \lambda)$ are the same as those given in (35).

Following the procedure as discussed in (2.2.1), we get after simplification,

$$E_{\alpha}(\alpha^{-k}|\underline{x}) = \alpha^{-k} + \frac{k(k+3)\alpha^{-k}}{2m} + \frac{1}{2} \frac{k}{m} \alpha^{-k+1} \\ \left[\frac{\frac{x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2}}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} - \frac{2}{\alpha} \right].$$

Thus, the Bayes estimator of α under the general entropy loss function is

$$\hat{\alpha}_{BG} = \left[\alpha^{-k} + \frac{k(k+3)\alpha^{-k}}{2m} + \frac{1}{2} \frac{k}{m} \alpha^{-k+1} \right. \\ \left. \left[\frac{\frac{x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2}}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} - \frac{2}{\alpha} \right] \right]^{-\frac{1}{k}}.$$

2.2.4 Bayes Estimator of λ Under General Entropy Loss Function

Applying the same Lindley approach here as in (34) with

$$u(\hat{\alpha}, \hat{\lambda}) = \lambda^{-k};$$

$$\hat{u}_{\lambda} = -k\lambda^{-k-1}, \hat{u}_{\lambda\lambda} = k(k+1)\lambda^{-k-2} \text{ and } \hat{u}_{\alpha} = \hat{u}_{\lambda\alpha} = \hat{u}_{\alpha\alpha} = 0.$$

$L(\alpha, \lambda)$ and $G(\alpha, \lambda)$ are the same as those given in (35).

Following the procedure as discussed in (2.2.1), we get after simplification,

$$E_{\lambda}(\lambda^{-k}|\underline{x}) = \lambda^{-k} + \frac{1}{2} \left[\frac{k(k+1)\lambda^{-k-2} - 2k\lambda^{-k-1} \left(\frac{c-1}{\lambda} - b \right)}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} \right]$$

$$+ \frac{1}{2} \left[\frac{-k\lambda^{-k-1} \left(\frac{2m}{\lambda^3} + \frac{\alpha x_m^3 (1+e^{-\lambda x_m}) \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^3} - \sum_{i=1}^m \frac{x_i^3 (1+e^{-\lambda x_i}) \exp(-\lambda x_i)}{(1-\exp(-\lambda x_i))^3} \right)}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} \right].$$

Thus, the Bayes estimator of λ under the general entropy loss function is

$$\hat{\lambda}_{BG} = \left[\lambda^{-k} + \frac{1}{2} \left[\frac{k(k+1)\lambda^{-k-2} - 2k\lambda^{-k-1} \left(\frac{c-1}{\lambda} - b \right)}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} \right] \right. \\ \left. + \frac{1}{2} \left[\frac{-k\lambda^{-k-1} \left(\frac{2m}{\lambda^3} + \frac{\alpha x_m^3 (1+e^{-\lambda x_m}) \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^3} - \sum_{i=1}^m \frac{x_i^3 (1+e^{-\lambda x_i}) \exp(-\lambda x_i)}{(1-\exp(-\lambda x_i))^3} \right)}{\left\{ \frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2} \right\}^2} \right] \right]^{-\frac{1}{k}}.$$

2.2.5 Bayes Estimator of α Under Squared Error Loss Function

Applying the same Lindley approach here as in (34) with

$$u(\hat{\alpha}, \hat{\lambda}) = \alpha;$$

$$\hat{u}_{\alpha} = 1 \text{ and } \hat{u}_{\alpha\alpha} = \hat{u}_{\lambda} = \hat{u}_{\lambda\alpha} = \hat{u}_{\lambda\lambda} = 0.$$

$L(\alpha, \lambda)$ and $G(\alpha, \lambda)$ are the same as those given in (35).

Following the procedure as discussed in (2.2.1), we get after simplification,

$$E_{\alpha}(\alpha|\underline{x}) = \hat{\alpha}_{BS} = \alpha \left[1 - \frac{1}{m} + \frac{\alpha}{2m} \right. \\ \left. \left[- \frac{\frac{x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2}}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}} + \frac{2}{\alpha} \right] \right].$$

2.2.6 Bayes Estimator of λ Under Squared Error Loss Function

Applying the same Lindley approach here as in (34) with

$$u(\hat{\alpha}, \hat{\lambda}) = \lambda;$$

$$\hat{u}_{\lambda} = 1 \text{ and } \hat{u}_{\alpha\alpha} = \hat{u}_{\alpha} = \hat{u}_{\lambda\alpha} = \hat{u}_{\lambda\lambda} = 0.$$

$L(\alpha, \lambda)$ and $G(\alpha, \lambda)$ are the same as those given in (35).

Following the procedure as discussed in (2.2.1), we get after simplification,

$$E_{\lambda}(\lambda|\underline{x}) = \hat{\lambda}_{BS} = \lambda + \frac{\frac{c-1}{\lambda} - b}{\frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2}}$$

$$+ \frac{1}{2} \left[\frac{\frac{2m}{\lambda^3} + \frac{\alpha x_m^3 (1+e^{-\lambda x_m}) \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^3} - \sum_{i=1}^m \frac{x_i^3 (1+e^{-\lambda x_i}) \exp(-\lambda x_i)}{(1-\exp(-\lambda x_i))^3}}{\left\{ \frac{m}{\lambda^2} + \frac{\alpha x_m^2 \exp(-\lambda x_m)}{(1-\exp(-\lambda x_m))^2} - \sum_{i=1}^m \frac{x_i^2 e(-\lambda x_i)}{(1-e(-\lambda x_i))^2} \right\}^2} \right].$$

3 Bayesian Prediction of Future Records

Assume that we have m lower records $X_{L(1)} = x_1, X_{L(2)} = x_2, \dots, X_{L(m)} = x_m$, from the $GE(\alpha, \lambda)$. Based on such sample, prediction, either point or interval is needed for the s -th lower records, $1 < m < s$. Now let $Y = X_{L(s)}$ be the s -th lower record value, $1 < m < s$. The conditional pdf of Y for the given parameters α and λ and that the m -th record had been observed is [4]

$$f(y|x_m, \theta) = \frac{[H(y) - H(x_m)]^{s-m-1} f(y)}{\Gamma(s-m) F(x_m)}, \quad 0 \leq y < x_m < \infty, \quad (37)$$

where $f(\cdot)$ and $F(\cdot)$ are, respectively, the *pdf* and the *cdf*, $H(\cdot) = -\ln F(\cdot)$, and "ln" is used for the natural logarithm. Combining the posterior density given by (15), and the conditional density given by (37), and integrating out the parameters α and λ , one may get the Bayesian predictive density function of $Y = X_{L(s)}$ for the given past m records, in the form

$$\begin{aligned} q(y|\underline{x}) &= \int_0^\infty \int_0^\infty f(y|x_m, \alpha, \lambda) \Pi(\alpha, \lambda|\underline{x}) d\alpha d\lambda \\ &= \frac{\phi(x_m, y)}{B(s-m, m)\phi(b, c-1, x_m)}, \quad 0 < y < x_m < \infty, \end{aligned} \quad (38)$$

where $B(\cdot, \cdot)$ is the complete beta function and

$$\phi(x_m, y) = \int_0^\infty \frac{\lambda^{m+c} e^{-\lambda(y+b)} t(\underline{x})}{(1 - e^{-\lambda y}) [\log(1 - e^{-\lambda y})^{-1}]^s} \left[\ln\left(\frac{1 - e^{-\lambda x_m}}{1 - e^{-\lambda y}}\right) \right]^{s-m-1} d\lambda.$$

The Bayesian predictive bounds of $Y = X_{L(s)}$ are obtained by evaluating $P(Y > z|\underline{x})$ for some given value of z . It follows from (38) that

$$P(Y_s > z|\underline{x}) = \int_z^\infty \phi(x_m, y) dy / \int_{x_m}^\infty \phi(x_m, y) dy. \quad (39)$$

Two-sided $(1 - \gamma)100\%$ prediction interval for $Y = X_{L(s)}$ is obtained by evaluating both the lower, $L(\underline{x})$, and the upper, $U(\underline{x})$, limits which satisfy

$$P(Y_s > L(\underline{x})|\underline{x}) = 1 - \frac{\gamma}{2} \text{ and } P(Y_s > U(\underline{x})|\underline{x}) = \frac{\gamma}{2}.$$

Thus, one may obtain $L(\underline{x})$ and $U(\underline{x})$ by equating (39) to $1 - \frac{\gamma}{2}$ and $\frac{\gamma}{2}$, respectively, and solving, numerically, the resulting equations.

For the special case, when $s = m + 1$, it can be shown that

$$P(Y_{m+1} > z|\underline{x}) = \frac{\phi(b, c-1, z)}{\phi(b, c-1, x_m)}. \quad (40)$$

4 Numerical Computations

In order to illustrate the usefulness of the inference procedures discussed in the previous sections, we generate five sets of record values of sizes 10, 20, 30, 40 and 50 from the generalized exponential distribution with parameter α and λ . The Bayes estimators of α and λ under symmetric and asymmetric loss functions are shown in Table 1 and Table 2. The MLE's are also discussed in the same table.

Moreover, in order to illustrate the prediction procedures obtained in section 3, using (40), the lower and upper 95% predictive bounds for Y_{m+1} (next upper record in the X_n sequence) at prior parameters $b = 2$ and $c = 2$ are shown in Table 3, respectively.

Table 1. MLE's and Bayes estimates at prior parameters $b = 2$ and $c = 2$ based on generated record values, when the population parameters are $\alpha = 3$

n	m	$\hat{\alpha}_{ML}$	$\hat{\alpha}_{BS}$	$c_1 = k$	$\hat{\alpha}_{BL}$	$\hat{\alpha}_{BG}$
10	7	3.242715	2.999803	-0.5	3.297902	2.893620
				-0.4	3.244582	2.872885
				-0.3	3.187298	2.852418
				-0.2	3.126754	2.832257
				-0.1	3.063884	2.812442
				0.1	2.935724	2.773979
				0.2	2.872862	2.755393
				0.3	2.812330	2.737270
				0.4	2.755061	2.719634
				0.5	2.701759	2.702503
				20	7	2.997946
-0.4	3.242868	2.873074				
-0.3	3.185511	2.852605				
-0.2	3.124911	2.832442				
-0.1	3.062006	2.812625				
0.1	2.933847	2.774157				
0.2	2.871020	2.755568				
0.3	2.810544	2.737442				
0.4	2.753348	2.719803				
0.5	2.700132	2.702669				
30	7	3.210332	2.997906			
				-0.4	3.244758	2.871037
				-0.3	3.187482	2.850587
				-0.2	3.126943	2.830446
				-0.1	3.064077	2.810652
				0.1	2.935917	2.772240
				0.2	2.873051	2.753680
				0.3	2.812513	2.735587
				0.4	2.755237	2.717982
				0.5	2.701926	2.700882
				40	8	2.873693
-0.4	3.215437	2.888755				
-0.3	3.164610	2.870740				
-0.2	3.111245	2.852963				
-0.1	3.056085	2.835451				
0.1	2.943900	2.801332				
0.2	2.888739	2.784774				
0.3	2.835375	2.768579				
0.4	2.784549	2.752766				
0.5	2.736840	2.737351				

50	7	2.992030	2.999963	-0.5	3.298039	2.893778
				-0.4	3.244727	2.873041
				-0.3	3.187450	2.852572
				-0.2	3.126910	2.832410
				-0.1	3.064043	2.812593
				0.1	2.935883	2.774126
				0.2	2.873018	2.755537
				0.3	2.812481	2.737412
				0.4	2.755206	2.719774
				0.5	2.701897	2.702640

ML: Maximum Likelihood, BS: Squared Error Loss Function,
BL: LINEX Loss Function, BG: General Entropy Loss Function

Table 2. MLE's and Bayes estimates at prior parameters $b = 2$ and $c = 2$ based on generated record values, when the population parameters are $\lambda = 1$

n	m	$\hat{\lambda}_{ML}$	$\hat{\lambda}_{BS}$	$c_1 = k$	$\hat{\lambda}_{BL}$	$\hat{\lambda}_{BG}$
10	7	0.998754	0.998114	-0.5	1.079375	0.917052
				-0.4	1.063584	0.901744
				-0.3	1.047489	0.886901
				-0.2	1.031160	0.872582
				-0.1	1.014675	0.858832
				0.1	0.981559	0.833187
				0.2	0.965093	0.821339
				0.3	0.948795	0.810159
				0.4	0.932741	0.799648
				0.5	0.917003	0.789802
				20	7	0.978359
-0.4	1.063567	0.901733				
-0.3	1.047471	0.886892				
-0.2	1.031143	0.872573				
-0.1	1.014659	0.858825				
0.1	0.981545	0.833181				
0.2	0.965079	0.821334				
0.3	0.948782	0.810154				
0.4	0.932729	0.799644				
0.5	0.916991	0.789799				
30	7	0.999989	0.998029			
				-0.4	1.063484	0.901689
				-0.3	1.047391	0.886852
				-0.2	1.031066	0.872538
				-0.1	1.014585	0.858794
				0.1	0.981479	0.833159
				0.2	0.965018	0.821315
				0.3	0.948724	0.810139
				0.4	0.932676	0.799632
				0.5	0.916943	0.789789

40	8	0.999947	0.999547	-0.5	1.080678	0.917826
				-0.4	1.064853	0.902452
				-0.3	1.048717	0.887544
				-0.2	1.032344	0.873159
				-0.1	1.015810	0.859346
				0.1	0.982585	0.833579
				0.2	0.966059	0.821675
				0.3	0.949699	0.810440
				0.4	0.933581	0.799878
				0.5	0.917778	0.789984
				50	7	0.999788
-0.4	1.064790	0.902417				
-0.3	1.048657	0.887512				
-0.2	1.032285	0.873130				
-0.1	1.015754	0.859320				
0.1	0.982534	0.833559				
0.2	0.966011	0.821658				
0.3	0.949654	0.810426				
0.4	0.933539	0.799866				
0.5	0.917739	0.789975				

ML: Maximum Likelihood, BS: Squared Error Loss Function,
BL: LINEX Loss Function, BG: General Entropy Loss Function

Table 3. Lower and Upper 95% prediction bounds for Y_{m+1}

Number of Records m	Interval prediction for the next record Y_{m+1}		Length
	$L(\underline{x})$	$U(\underline{x})$	
3	0.02114997	0.00000117	.02114880
4	0.00926856	0.00000619	.00926237
5	0.04599991	0.00134991	.04465000
6	0.04459921	0.04456998	.00002923
7	.030254000	0.00118600	0.0290680

5 Conclusion

In this paper, we have studied the Bayesian estimator under symmetric and asymmetric loss functions, and maximum likelihood estimation as well as prediction for the two parameter generalized exponential distribution based on generated record values. Bayes estimators were obtained using Lindley approximation, while MLE's were obtained using Newton-Raphson method.

It is noted that as sample size increases, the Bayes estimators of α and λ under symmetric and asymmetric loss function increase and decrease irregularly. Also, the MLE's decrease and increase irregularly. Bayes estimators of α and λ under squared error loss function are more or less than MLE's. If the magnitude of c_1 and k , i.e., the LINEX and General Entropy loss parameter increases, then the estimator of α and λ decreases.

For negative values of c_1 and k :

(1) The Bayes estimator of λ under LINEX loss function is greater than MLE's. However, the Bayes estimator of α under LINEX loss function is more or less than MLE's.

(2) The Bayes estimator of λ under General Entropy loss function is less than MLE's. However, the Bayes estimator of α under General Entropy loss function is more or less than MLE's.

For positive values of c_1 and k :

(1) The Bayes estimator of α and λ under LINEX loss function is more or less than MLE's.

(2) The Bayes estimator of α and λ under General Entropy loss function is less than MLE's.

Acknowledgement

The authors thank the editor and the referees for their valuable and constructive comments and suggestions that helped to improve the earlier version of this manuscript.

Conflict of Interest

The authors declare that they have no conflict of interest.

References

- [1] K. N. Chandler, The distribution and frequency of record values. *Journal of the Royal Statistical Society, B* (14), 220-228 (1952).
- [2] B. C. Arnold, N. Balakrishnan and H. N. Nagaraja, *Records*, John Wiley and Sons (1998).
- [3] J. Ahmadi and N. R. Arghami, Comparing the Fisher information in record values and iid observations. *Statistics: A Journal of Theoretical and Applied Statistics*, 37 (5), 435-441 (2003).
- [4] M. Ahsanullah, *Record Values-Theory and Applications*, University Press of America (2004).
- [5] J. Ahmadi and M. Doostparast, Bayesian estimation and prediction for some life distributions based on record values. *Statistical Papers*, 47 (3), 373-392 (2006).
- [6] M. Amini, J. Ahmadi and N. Balakrishnan, Fisher information in bivariate record values from a sample of fixed size. *Statistics: A Journal of Theoretical and Applied Statistics*, 46 (1), 23-39 (2012).
- [7] M. M. Raqab and M. Ahsanullah, Estimation of the location and scale parameters of generalized exponential distribution based on order statistics. *Journal of statistical Computation and simulation*, 69 (2), 109-123 (2001).
- [8] R. D. Gupta and D. Kundu, Exponentiated exponential family: An alternative to gamma and Weibull distributions. *Biometrical Journal*, 43 (1), 117-130 (2001a).
- [9] R. D. Gupta and D. Kundu, Discriminating between Weibull and generalized exponential distributions. *Computational Statistics and Data Analysis*, 43 (2), 179-196 (2003a).
- [10] R. D. Gupta and D. Kundu, Closeness of gamma and generalized exponential distribution. *Communications in Statistics-Theory and Methods*, 32 (4), 705-721 (2003b).
- [11] R. D. Gupta and Kundu, D., Discriminating between gamma and generalized exponential distributions. *Journal of Statistical Computation and Simulation*, 74 (2), 107-121 (2004).
- [12] R. D. Gupta and D. Kundu, Theory and methods: Generalized exponential distributions. *Australian and New Zealand Journal of Statistics*, 41 (2), 173-188 (1999).
- [13] H. R. Varian, *A Bayesian Approach to Real State Assessment*, In: Stephen, E. F. and Zellner, A. (Eds.) *Studies in Bayesian Econometrics and Statistics in Honor of Leonard J. Savage*, Amsterdam: North-Holland, 195-208 (1975).
- [14] J. Ahmadi, M. Doostparast and A. Parsian, Estimation and prediction in a two-parameter exponential distribution based on k-record values under LINEX loss function. *Communications in Statistics-Theory and Methods*, 34 (4), 795-805 (2005).
- [15] A. P. Basu and N. Ebrahimi, Bayesian approach to life testing and reliability estimation using asymmetric loss function. *Journal of Statistical Planning and Inference*, 29 (1-2), 21-31 (1991).
- [16] R. Calabria and G. Pulcini, Point estimation under asymmetric loss functions for left-truncated exponential samples. *Communications in Statistics-Theory and Methods*, 25 (3), 585-600 (1996).
- [17] A. A. Soliman, Reliability estimation in a generalized life-model with application to the Burr-XII. *IEEE Transactions on Reliability*, 51 (3), 337-343 (2002).
- [18] U. Singh, P. K. Gupta and S. K. Upadhyay, Estimation of parameters for exponentiated-Weibull family under type-II censoring scheme. *Computational Statistics and Data Analysis*, 48 (3), 509-523 (2005).
- [19] A. Zellner, Bayesian estimation and prediction using asymmetric loss functions. *Journal of the American Statistical Association*, 81 (394), 446-451 (1986).
- [20] M. Arshad and Q. A. Jamal, Statistical Inference for Topp-Leone-generated family of distributions based on records. *Journal of Statistical Theory and Applications*, 18 (1), 65-78 (2019).

- [21] S. Dey, T. Dey, M. Salehi and J. Ahmadi, Bayesian inference of generalized exponential distribution based on lower record values. *American Journal of Mathematical and Management Sciences*, 32 (1), 1-18 (2013).
- [22] M. Faizan and Sana, Bayesian estimation and prediction for Chen distribution based on upper record values. *Journal of Mathematics and Statistical Science*, 4 (6), 235-243 (2018).
- [23] P. Nasiri and H. Pazira, Bayesian approach on the generalized exponential distribution in the presence of outliers. *Journal of Statistical Theory and Practice*, 4 (3), 453-475 (2010).
- [24] R. Pandey and N. Kumari, Bayesian Estimation for ISB p-dim Rayleigh distribution under type-II censored data using Lindley's Approximation. *World Wide Journal of Multidisciplinary Research and Development*, 4 (1), 207-211 (2018).
- [25] Sana and M. Faizan, Bayesian estimation for Nadarajah-Haghighi distribution based on upper record values. *Pakistan Journal of Statistics and Operation Research*, 15 (1), 217-230 (2019).
- [26] A. M. Sarhan and L. Tadj, Inference using record values from generalized exponential distribution with application. *International Journal of Statistics and Economics*, 2 (A08), 72-85 (2008).
- [27] A. M. Berred, Prediction of record values. *Communications in Statistics-Theory and Methods*, 27 (9) 2221-2240 (1998).
- [28] S. Dey, T. Dey and D. J. Luekett, Statistical inference for the generalized inverted exponential distribution based on upper record values. *Mathematics and Computers in Simulation*, 120, 64-78 (2016).
- [29] M. G. M. Ghazal and H. M. Hasaballah, Bayesian prediction based on unified hybrid censored data from the exponentiated Rayleigh distribution. *Journal of Statistics Applications and Probability Letters*, 5 (3), 103-118 (2018).
- [30] M. A. Mousa, Z. F. Jaheen and A. A. Ahmad, Bayesian estimation, prediction and characterization for the Gumbel model based on records. *Statistics: A Journal of Theoretical and Applied Statistics*, 36 (1), 65-74 (2002).
- [31] M. Z. Raqab, J. Ahmadi and M. Doostparast, Statistical inference based on record data from Pareto model. *Statistics: A Journal of Theoretical and Applied Statistics*, 41 (2), 105-118 (2007).
- [32] R. Singh, S. K. Singh, U. Singh and G. P. Singh, Bayes estimator of generalized-exponential parameters under Linex loss function using Lindley's approximation. *Data Science Journal*, 7, 65-75 (2008).
- [33] A. A. Soliman, A. A. Ellah and K. S. Sultan, Comparison of estimates using record statistics from Weibull model: Bayesian and non-Bayesian approaches. *Computational Statistics and Data Analysis*, 51 (3), 2065-2077 (2006).
- [34] D. V. Lindley, *Approximate Bayes Methods*, Bayesian Statistics, Valency, (1980).
- [35] D. Kundu and B. Pradhan, Bayesian inference and life testing plans for generalized exponential distribution. *Science in China Series A: Mathematics*, 52 (6), 1373-1388 (2009).
- [36] C. Kim, J. Jung and Y. Chung, Bayesian estimation for the exponentiated Weibull model under Type II progressive censoring. *Statistical Papers*, 52 (1), 53-70 (2011).
- [37] M. M. Nassar and F. H. Eissa, Bayesian estimation for the exponentiated Weibull model. *Communications in Statistics-Theory and Methods*, 33 (10), 2343-2362 (2005).
- [38] A. Xu and Y. Tang, Reference analysis for Birnbaum-Saunders distribution. *Computational Statistics and Data Analysis*, 54 (1), 185-192 (2010).
-